HANSOMN

DR ED
INSTALLATION INSTRUCTIONS

JZIRTC-P / JZJ4102-P
ZJ REAR BUMPER W/TIRE CARRIER

Main Bumper - 1
Main Bracket - 2
Corner Bracket - 2
Wheel Hub - 1

Pivot Bushing - 2
Pivot Sleeve - 1

3/4” x 6 Bolt - 1
3/4” SAE F/W - 2
3/4” Lock Washer - 1
3/4” Nut - 1

2. The included long main support bracket will slide into the opening
shown in the photo. The bracket is angled to mount up to the bumper

as shown in the cut-out photo.

3/8” x 1” Bolt - 4

3/8” F/W - 8

3/8” Lock Washer - 4
3/8” Nut - 4

Wheel Stud - 3

12 x 40 Bolt - 2

7/16” SAE F/W - 2
7/16” Lock Washer - 2

1/2” x 1.25” Bolt - 10
1/2” SAE F/W - 16

1/2” Lock Washer - 10
1/2” Nut - 10

Grease Zerk

Installed

Dual Rotor Latch - 1
Rubber Stops - 2
Latch Pin - 1

Scuff Block -1

1. Remove the stock bumper. The factory gas
B~ tank skid plate is retained.

HANSON OFFROAD
12539 Jomani Drive BAKERSFIELD CA 93312
877.757.9779 WWW.HANSONOFFROAD.COM
SALES@HANSONOFFROAD.COM

PROUDLY MADE IN THE USA!



3. These photos show the underside of the ZJ frame where the main support bracket is housed. The
forward hole will use the included 12mm bolts into the stock captured nut. The included 1/2” bolts
will mount through the frame and into the brackets. It is recommended to keep these bolts loose
until the bumper is completely fitted to allow for correct adjustment to the body.

T,

e

Passenger Side View Driver Side View

4. Using the supplied small support bracket, attached to the outer wing of the bumper and install
using the supplied 1/2” hardware to the open hole on either side of the vehicle (as shown).

Once the bumper and both sets of brackets have been installed and snugged, adjust
the bumper to the body lines of the Cherokee and tighten all bolts.
The swing arm will install using the supplied 3/4” bolt and corresponding pivot
bushings and sleeve.



	Page 1
	Page 2

